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Nz g Xds: X3 3,500,000& 3,500
N8I S Xz 65,0002 +6CH* 122 4,680
02 S3=gHl 70,050 56,200 13,850
NEARA S223
32,600,000 %11 2 32,600
NRERS 250,000 122 3,000
NEAMS X2l 3,000,000 * 104 2 3,000
N2ALE X2l 4,000,000 4,000
NI SAHI(HEY)
5,000,000 * 104 2= 5,000
NEAXE SRIHI(AEHIA)
5,000,000& 5,000
NEXXE SXHI(ALD)
2,300,000 2,300
NEXAE SAH(AHE)
2,500,000 2,500
NEDMSTAAHIA 2223
150,000 150
NAERE S| 250,000 x 122 3,000
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301 EtE NS 62,500 48,500 14,000
o7 8801 - 3243 62,500 48,500 14,000
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RS =, 25,0003 x34H +23] 1,700
ST 2 40,000 40,000 0
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Ne3gheE 74 300,000& 22 600
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